
      6 x 7000 = 42000 

      6 x 7 = 42 

      16 x 3000 = ………… 

      ….. x ….. = ……. 

 
 
 
 

KISA  YOLDAN ÇARPMA  İŞLEMİ 
          a Aşağıdaki  çarpma işlemlerini örnekteki gibi kısa yoldan  yapalım.  

    
 

     
 
                                                
 

      
 
                                                
 
  
   

 
                                                
 

     
 
 
 

    
 
                                                
 

      
 
                                                
 

      
 
                                                
 
     
 
 
 

 
 

      4 x 6000 =  ………. 

      …. x …. = ……. 

      8 x 3000 =  ………. 

      …. x …. = ……. 

      9 x 8000 =  ………. 

      …. x …. = ……. 

      3 x 7000 =  ………. 

      …. x …. = ……. 

      8 x 5000 =  ………. 

      …. x …. = ……. 

      30 x 8000 =  ………. 

      …. x …. = ……. 

      24 x 4000 =  ………. 

      …. x …. = ……. 

      45 x 5000 =  ………. 

      …. x …. = ……. 

      52 x 9000 =  ………. 

      …. x …. = ……. 

      63 x 2000 =  ………. 

      …. x …. = ……. 

      70 x 3000 =  ………. 

      …. x …. = ……. 

      18 x 7000 =  ………. 

      …. x …. = ……. 

      9 x 4000 =  ………. 

      …. x …. = ……. 

      7 x 2000 =  ………. 

      …. x …. = ……. 



 
 
 
 

KISA  YOLDAN ÇARPMA  İŞLEMİ 
          a Aşağıdaki  çarpma işlemlerini örnekteki gibi kısa yoldan  yapalım.  

    
 

     
 
       

    
 

     
 
           

    
 

     
 
                       

    
 

     
 
          

    
 

     
 
 

    
 

     
 
   
 

25 x 10 =  250 

25 x 100 = 2500 

25 x 1000 = 25000 

14 x 10 =  …….………. 

14 x 100 = …………… 

14 x 1000 = ………….. 

8 x 10 =  …...….……… 

8 x 100 = …………..… 

8 x 1000 = …….…….. 

27 x 10 =  …….………. 

27 x 100 = …………… 

27 x 1000 = ………….. 

90 x 10 =  …...………… 

90 x 100 = …………..… 

90 x 1000 = …….…….. 

46 x 10 =  …...….…..… 

46 x 100 = ………..….. 

46 x 1000 = …….…….. 

34 x 10 =  …….………. 

34 x 100 = …………… 

34 x 1000 = ………….. 

18 x 10 =  …...………… 

18 x 100 = …………..… 

18 x 1000 = …….…….. 

6 x 10 =  …...….…..… 

6 x 100 = ………..….. 

6 x 1000 = …….…….. 

80 x 10 =  …….………. 

80 x 100 = …………… 

80 x 1000 = ………….. 

5 x 10 =  …...………… 

5 x 100 = …………..… 

5 x 1000 = …….…….. 

72 x 10 =  …...….…..… 

72 x 100 = ………..….. 

72 x 1000 = …….…….. 

492 x 10 =  ………….….………. 

492 x 100 = …………….……… 

492 x 1000 = ………….. 

235 x 10 =  …...….………..…..… 

235 x 100 = ………………....….. 

235 x 1000 = ……………..…….. 

809 x 10 =  ……………….………. 

809 x 100 = ……………………… 

809 x 1000 = …………………….. 

670 x 10 =  ……………..….…..… 

670 x 100 = …..………….…..….. 

670 x 1000 = …….…………..….. 


